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Use decimal multiplication and division rules to fill in the blank.

1) 38,021.1÷    100      = 380.211

2) 358.14×   1,000     = 358,140

3) 198.997×10 =   1,989.97  

4)   690,110   ÷1,000 = 690.11

5) 889,900÷1,000 =    889.9    

6) 498.12×   1,000     = 498,120

7) 839.75×100 =    83,975   

8)    13.563   ×100 = 1,356.3

9)    35,140   ÷100 = 351.4

10) 2,922÷10 =    292.2    

11) 7,303.17÷     10      = 730.317

12) 686.676×100 =   68,667.6  

13) 948.41×1,000 =   948,410   

14)   963,849   ÷1,000 = 963.849

15) 319.87×   1,000     = 319,870

16) 223,700÷   1,000     = 223.7

17) 702,600÷1,000 =    702.6    

18)    54,915   ÷100 = 549.15

19) 6,563.68÷     10      = 656.368

20)   912.914   ×1,000 = 912,914

Answers

1.     100     

2.    1,000    

3.   1,989.97  

4.   690,110   

5.    889.9    

6.    1,000    

7.    83,975   

8.    13.563   

9.    35,140   

10.    292.2    

11.      10     

12.   68,667.6  

13.   948,410   

14.   963,849   

15.    1,000    

16.    1,000    

17.    702.6    

18.    54,915   

19.      10     

20.   912.914   
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